Monthly averaged wind velocity by MF radar at Tromsoe for September 2021

North

mean sigma = 19.964

100F 3
50 E
R P LT v —
-50F

-100E

0 4 8 12 16 20 0

mean sigma = 18.500

o

12 16 20

© frrrre
N
®
o

mean sigma = 21.995

100F E
ol ;
50F E
-100F E
0 4 8 12 16 20 0

mean sigma = 23.059

100 E|
50 =
of e A T R & 1
50 E
-100E 3
0 4 8 12 16 20 0
mean sigma = 21.849
100 El
50 =
0 BTN gl s = s WA TSIV e g
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 20.668
100F E|
50 E
i
50 E
-100F 3
0 4 8 12 16 20 0
mean sigma = 19.105
100F El
50 =
50 E
-100EF 3
0 4 8 12 16 20 0
mean sigma = 16.686
100 El
50 =
Ok O T o e T ey PR
50 E
-100E 3
0 4 8 12 16 20 0

East

mean sigma = 22.958

100F
50
o P e 106km
-50
-100E
0 4 8 12 16 20 0
mean sigma = 25.817
100F E
50¢
of - . 103km
3 i
-100E E
0 4 8 20 0
mean sigma = 23.575
100

a
o

100km

© \*O%\

-50 3
-100 3
4 8 12 16 20 0
mean sigma = 22.305
100F .
50 E
op Iy du 5 o 97k
-50 -
-100E 3
0 4 8 12 16 20 0
mean sigma = 22.194
100 .
50 -
AR - 94km
-50 -
-100F 3
0 4 8 12 16 20 0
mean sigma = 20.762
100F -
50 E
°5 e g2 O1km
50 -
-100F 3
0 4 8 12 16 20 0
mean sigma = 20.297
100F E
50 -
°F 5 88km
-50 -
-100E B
0 4 8 12 16 20 0
mean sigma = 17.378
100F .
50 -
B A 3 85km
-50 -
-100EF 3
0 4 8 12 16 20 0

plot_mf_month_ave_year.pro
Wed Feb 16 09:43:02 2022



Monthly averaged wind velocity by MF radar at Tromsoe for September 2021
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